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Q1 What is the full form of the term “NITI’ in the name NITI Aayog?
(a)  National Initiative for Transforming India
(b)  National Institution for Transforming India
(c)  National Initiative for Technological Independence
(d)  National Institution for Thriving India

Ans X7 A1
VB2
/X cs3
/X D.4

Question ID : 4774417528
Status : Answered
Chosen Option : 2

92 The first Law Officer of the Government of India is the
(a)  Chief Justice of Supreme Court
(b)  Union Law Minister
(c)  Attorney-General for India
(d) None of the above
Ans x A1
X B2
W c3
/X D.4

Question ID : 4774417534
Status : Not Answered
Chosen Option : --




Q.3

Who is the first non-Indian to receive the Bharat Ratna award?

(a)  Martin Luther King

(b)  Mother Teresa

(c) Nelson Mandela

(d) Khan Abdul Gaffar Khan

Ans A1

X B.2

X c3

D4

Question ID : 4774417543
Status : Answered
Chosen Option : 4

Q.4

Ans

When ISRO was established?
(a) 15 August 1959
(b) 15 August 1962
(c) 15 August 1965
(d) 15 August 1969

A
X B.2
5 c3
W D4

Question ID : 4774417536
Status : Answered
Chosen Option : 1




2> Find the correct spelling for questions.

Ans

1. Collonel
2. Colanel
3. Colonel
4. Colonal
(a 1
(b) 2
ey 3
(d 4
KA

X B2

W cs

/X D.4

Question ID : 4774417517
Status : Answered
Chosen Option : 3

Q.6

Ans

Choose the word most nearly opposite meaning to the given word.
Stern

(a)  Austere
(b) Powerful
(c)  Strict
(d) Lenient
KA

/X B.2

X cs3

D4

Question ID : 4774417510
Status : Not Answered
Chosen Option : --

Q.7

Ans

Which of the following is the India's first lunar probe launched by the ISRO?
(a) Mangalyaan Program

(b) Chandrayaan Program

(c) Discovery program

(d) None of these

KA
B2
X c3
75 D4

Question ID : 4774417535
Status : Not Answered
Chosen Option : --




Q.8 Which among the following act provided for the Public Service Commission in

India for the first time?

(a) Government of India Act 1919
(b) Indian Councils act 1909

(c) Government of India Act 1935
(d) Government of India act 1952

Ans o A1
X B2
5 c3
/X D4

Question ID : 4774417522
Status : Not Answered
Chosen Option : --

%° Choose the correct meaning:
To draw a line
(a)  to be stemn
(b)  to insult someone
(c) to fix a limit
(d)  to caution someone
Ans x A1
/X B.2
s
/X D4

Question ID : 4774417518
Status : Answered
Chosen Option : 3

1% Fill up the blanks with correct preposition
I shall meet you 6 o’clock.
(@) by
(b)
(c) at
(d) during
Ans x AT
X B.2
Wcs
/X D.4

Question ID : 4774417496
Status : Answered
Chosen Option : 3




@1 Fill up the blanks with correct preposition
My wife works the town hall.
(a) in
(b) at
(©) by
(d) on
Ans &7 A 1
W52
X c3
/< D.4

Question ID : 4774417497
Status : Answered
Chosen Option : 2

%12 Find the correct spelling for questions.
1. Surveillance
2. Surveilance
3. Survellance
4. Survaillance
(a) 1
(b) 2
(¢} 3
(d) 4

Ans  of A1
75 B2
/X c3
/X D.4

Question ID : 4774417516
Status : Answered
Chosen Option: 1




Q.13

The term of Rajya Sabha member 1s for a period of
(a)
(b)
()
(d)

3 years
4 years
5 years
6 years

Ans A1
/X B.2
X c3
o D4

Question ID : 4774417524
Status : Answered
Chosen Option : 4

Q.14 Choose the pair that best represents a similar relationship to the one expressed

in the original pair of words:

MONK : DEVOTION

(a)  rover: wanderlust
(b)  explorer : contentment
(c) maniac : pacifism
(d)  philistine : culture
Ans ( A1
/X B.2
X c3
75 D4

Question ID : 4774417549
Status : Not Answered
Chosen Option : --

@15 The film 'Kai Po Che' is based on the novel

Lashkar

The Loving Dool
The Story of My Matriage
The 3 Mistakes of My Life

Question ID : 4774417529

Not Attempted and
Marked For Review

Chosen Option : --

Status :




@16 One Word substitution :
A Government by the Nobles
(a) Democracy
(b)  Bureaucracy
(c)  Aristocracy
(d)  Autocracy
Ans KA1
/X B.2
s
/X D.4

Question ID : 4774417503
Status : Answered
Chosen Option : 3

Q17" Choose the word most nearly opposite meaning to the given word.
Doleful

(a) Mournful

(b)  Beautiful

(c) Deceittul

(d) Cheerful
Ans X7 A1

X B.2

X cs

W D4

Question ID : 4774417513
Status : Not Answered
Chosen Option : --




@18 Find the correct spelling for questions.
1. Reannaisance
2. Renaissance
3. Rennaissance
4. Renaisance
(a) 1
(b) 2
(c) 3
(d) 4
Ans X7 A1
W52
X cs
/X D.4

Question ID : 4774417515
Status : Not Answered
Chosen Option : --

Q19 Choose the word most nearly similar in meaning to the given word.
Despair
(a)  Derogatory
(b)  Deprive
(¢)  Sparse
(d)  Misery
Ans XA
/X B.2
X c3

D4

Question ID : 4774417506
Status : Not Answered
Chosen Option : --




Q20 Choose the word most nearly similar in meaning to the given word.
Pinnacle
(a) peak

(b)  pass
(c)  foothills

(d) taunt
Ans o A1
X B.2
5 c3
/X D.4

Question ID : 4774417507
Status : Answered
Chosen Option : 1

Q.21 After walking 6 km. I turned right and covered a distance of 2 ki, then turned

left and covered a distance of 10 km. In the end. I was moving towards the
north. From which direction did I start my journey?
(a)  South
(b) West
(c) North
(d) East

Ans o A1
/X B.2
X c3
75 D4

Question ID : 4774417552
Status : Answered
Chosen Option : 2

Q.22 Dr VergheseKurien was a distinguished personality in which of the following
fields?
(a)  Poultry farms
(b)  Economic Reforms
(¢)  Dairy Development
(d) Atomic Energy

Ans A1
5 B2
s
75 D4

Question ID : 4774417532
Status : Not Answered
Chosen Option : --




Q23 Name an instrument which is used to measure the Density of milk?
(a) Hydrometer
(b) Lactometer
(c) Hygrometer
(d)  Spectrometer

Ans X" A1
W52
/< c.3
/X D.4

Question ID : 4774417526
Status : Answered
Chosen Option: 2

@24 Fill up the blanks with correct preposition
Whom are you talking ?
(a) to
(b) too
() by
(d) over
Ans o A1
/X B.2
X cs3
75 D4

Question ID : 4774417498
Status : Answered
Chosen Option: 1

Q.25 How long can a person continue to be Minister of the Union Government/State
Government without being a member of either House of Parliament/State
Legislature?

(a)  Three months
(b)  Six months
(¢)  One year

(d) No time limit

Ans X A1
B2
X cs
/X D.4

Question ID : 4774417531
Status : Answered
Chosen Option: 2




Q.26

Ans

One Word substitution :
The Government wing responsible for making Rule
(a)  Judiciary
(b)  Legislature
(¢) Executive
(d) Court
KA
B2
X c3
/X D.4

Question ID : 4774417502
Status : Answered
Chosen Option: 3

Q.27

Choose the word most nearly opposite meaning to the given word.
Vague

(a)  Artificial

(b) Certain

(c) Imaginary

(d) Deadlock

Ans KA1

W52

X c3

X D.4

Question ID : 4774417512
Status : Not Answered
Chosen Option : --

Q.28 Choose the pair that best represents a similar relationship to the one expressed

Ans

in the original pair of words:
JAUNDICE : LIVER
(a)  valentine : heart
(b)  dialysis : kidney
(¢) smog:lung
(d) rash: skin
A
X B.2
5 c3

o D4

Question ID : 4774417548
Status : Answered
Chosen Option : 4




Q.29 Choose the pair that best represents a similar relationship to the one expressed
in the original pair of words:
COBBLER : SHOE
(a) jockey : horse
(b)  contractor : building
(c) mason: stone
(d) cowboy : boot

Ans X7 A1

B2

/X c3

/X D.4

Question ID : 4774417550
Status : Answered
Chosen Option : 2

Q.30

Choose the correct meaning:

To plough the sands

(a) to be dejected

(b)  to be resourceful

(c)  to busy oneself in an unprofitable position
(d)  to be extremely accomplished

Ans X A
/X B.2
s
/X D.4

Question ID : 4774417519
Status : Answered
Chosen Option : 3

Q.31

Ornithology is the study of:
(a) Birds

(b)  Plants

(c) Bones

(d)  Stamps

Ans  of A1

X B2

/K c3
/X D.4

Question ID : 4774417525
Status : Answered
Chosen Option : 1




232 What does the Olympic Flame symbolize?
(a)  zeal to play sports
(b)  Challenge
(c) Continuity
(d) Integrity
Ans X7 A 1
75 B2
s
/X D.4

Question ID : 4774417538
Status : Answered
Chosen Option: 3

233 One Word substitution :
Set in wrong time or period
(a)  Anachronistic
(b)  Antiphonic
(¢) Anarchy
(d)  Analogy
Ans  of A1
X B2
/X c3
75 D4

Question ID : 4774417504
Status : Not Answered
Chosen Option : --

@34 Fill up the blanks with correct preposition
I will think the matter.
(a) on
(b) at
(c) for
(d) about
Ans x AT
X B.2
5 c3
o D4

Question ID : 4774417499
Status : Answered
Chosen Option : 4




Q.35 Who among the following Chief Election Commissioners of India also served
as first Chief Election Commissioner in Nepal and Sudan?
(a) KVK Sundaram
(b) SP Sen Verma
(¢)  Sukumar Sen
(d) Rajmannar

Ans X7 A1
75 B2
Wcs
/X D.4

Question ID : 4774417523
Status : Not Answered
Chosen Option : --

Q36 wWhat is the name of Delhi Police’s anti-street crime vans deployed in the

national capital to deter crimes against women and street crimes?
(a)  Parakram

(b)  Vahini

(c) Tejas

(d)  Prakhar

Ans KA1
/X B.2
X cs3
D4

Question ID : 4774417520
Status : Not Answered
Chosen Option : --

Q37 Choose the word most nearly similar in meaning to the given word.

Replenish

(a) reinstale
(b)  refuse
(c) refill

(d) polish

L N
X B2
W cs
/X D.4

Question ID : 4774417505
Status : Not Answered
Chosen Option : --




Q.38 Who among the following Cricketer has been chosen for ICC ODI Cricketer of
the Year for 2019
(a)  Virat Kohli
(b)  Steven Smith
(c)  Rohit Sharma
(d) Ben Stokes

Ans A1
/X B.2
s
/X D.4

Question ID : 4774417541
Status : Answered
Chosen Option: 3

Q.39 Which among the following is also known as Earth’s sister Planet?
(a) Venus
(b) Mars
(c)  Jupiter
(d) Satun

Ans  of A1
X B2
X cs
/X D.4

Question ID : 4774417540
Status : Answered
Chosen Option : 1

Q40 Choose the word most nearly similar meaning to the given word.
Tentative

(a) Mocking
(b)  Prevalent
(c) Experimental
(d)  Wry

Ans X A1
X B.2
s
/X D.4

Question ID : 4774417511
Status : Not Answered
Chosen Option : --




Q.41 Tn a certain code, REFRIGERATOR is coded as ROTAREGIRFER. Which
word would be coded as NOITINUMMA?
(a) ANMOMIUTNI
(b) AMNTOMUIIN
(¢) AMMUNITION
(d) NMMUNITION

L N

X 5.2

s

/< D.4

Question ID : 4774417554
Status : Answered
Chosen Option: 3

Q.42

Ans

Who is the author of the book ‘India Positive’?

(a)
(b)
(c)
(d)
o A
X B2
/X c3
/X D.4

Chetan Bhagat
Vikram Seth
Latika Nath
Priya Sahgal

Question ID : 4774417533
Status : Answered
Chosen Option : 2

Q.43 Name the inventor of famous cut, copy and paste command in computers.

Ans

(a)
(b)
(©)
(d)

KA
/X B.2
s
75 D4

Dennis Ritchie
Timothy J. Berners-Lee
Lairy Tesler

Jeffrey Ullman

Question ID : 4774417530
Status : Not Answered
Chosen Option : --




Q44 The national anthem of India *Jana Gana Mana™ was first sung at __:
(a) Calcutta, 1911
(b)  Ahmedabad. 1912
(c) Delhi. 1911
(d) Mumbai, 1912

Ans o A1
/X B.2
X c3
/X D.4

Question ID : 4774417521
Status : Answered
Chosen Option: 1

Q.45 Who was the first Indian in independent India to have won a medal in an
individual Olympic event?
(a) Dhyanchand
(b) K D Jadhav
(c)  Prithipal Singh
(d) Harishchandra Birajdar

Ans x A1

a2

Xcs

75 D4

Question ID : 4774417542
Status : Answered
Chosen Option : 2

Q.46

In which one of the following States, Sabari mala temple is located?
(a) Kerala

(b) Karnataka

(c)  Tamil Nadu

(d)  Andhra Pradesh

Ans  of A1
/X B.2
X c3
/X D4

Question ID : 4774417537

Not Attempted and
Marked For Review

Chosen Option : --

Status :




947 Fill up the blanks with correct preposition
There is no limit the wants of man.
(a) for
(b) to
(c) in
(d)  with
Ans KA1
W52
X c3
/X D.4

Question ID : 4774417495
Status : Answered
Chosen Option : 1

Q48 Choose the word most nearly similar in meaning to the given word.

Barren
(a) Lush
(b) Bleak

(c) Adorned
(d) Verdant

Ans A1

Va2

X c3

X 0.4

Question ID : 4774417509
Status : Not Answered
Chosen Option : --

Q.49

Find the missing number.
198. 194, 185. 169. ?

(a) 92

(b) 112

(c) 136

(d) 144

Ans X7 A1

75 B2

/X c3

W D4

Question ID : 4774417545
Status : Answered
Chosen Option : 4




2% One Word substitution:
Food which agrees with one's taste
(a) Pungent
(b)  Palatable
(c)  Sensuous
(d) Edible
Ans KA1
W52
X c3
/X D.4

Question ID : 4774417501
Status : Not Answered
Chosen Option : --

@51 T COOL is coded as DQRP, then HOT will be coded as
(a) JQW
(b) IQX
(c) IPW
(d QW
Ans X AT
X B2
/5 c3
o D4

Question ID : 4774417551
Status : Answered
Chosen Option : 4

@52 How much time does it take to sing India’s National Anthem?
(a) 52 seconds
(b) 57 seconds
(c) 59 seconds
(d) 1 minute 02 seconds

Ans o A1
X B.2
5 c3
/X D.4

Question ID : 4774417527
Status : Answered
Chosen Option : 1




Ans

453 Find the missing number.

6.13.25 51,101, ?
a) 201

(b) 202

©) 203

d) 204

KA

X B.2

W3

/X D.4

Question ID : 4774417546
Status : Answered
Chosen Option: 3

Ans

Q.54 Mahesh walks 20 m towards North. He then turns left and walks 40 m. He again

turns left and walks 20 m. Further, he moves 20 m after turning to the right.
How far is he from his original position?
(a) 20m

(b) 30m
(c) S5S0m
(d) 60m

KA
X B2
X cs
o D4

Question ID : 4774417553
Status : Answered
Chosen Option : 4

Q.55

Ans

Pulitzer prize is awarded for outstanding work in the field of
(a)  Science and Technology

(b) Environmental Studies

(¢) Literature and Journalism

(d) Economics

KA
/X B.2
s
/X D.4

Question ID : 4774417544
Status : Answered
Chosen Option : 3




Q.56 Choose the word most nearly similar in meaning to the given word.

Ans

Mundane

(a)  spatial
(b)  heretic
(c) worldly
(d) global

KA
X B2
v g%
/X D.4

Question ID : 4774417508
Status : Not Answered
Chosen Option : --

Q.57

Ans

Choose the word most nearly opposite meaning to the given word.

Perpetual

(a) frequent
(b)  intermittent
(c) rare

(d) continuous
KA

W52

X c3

75 D4

Question ID : 4774417514
Status : Answered
Chosen Option: 3

Q.58

Ans

One Word substitution :

A short stay at a place
(a) Stop

(b) Interlude

(c)  Infermission
(d) Sojourn

KA

X B2

X c3

W D4

Question ID : 4774417500
Status : Answered
Chosen Option : 3




Q.59 Choose the pair that best represents a similar relationship to the one expressed
in the original pair of words:
WAITRESS : RESTAURANT
(a) driver : truck
(b)  doctor : diagnosis
(c) teacher : school
(d) author : book

Ans X7 A 1
75 B2
s
/< D.4

Question ID : 4774417547
Status : Answered
Chosen Option: 3

260 Which of the following river crosses equator twice?

(a) Nile

(b) Congo

(c) Amazon

(d) None of the above
Ans x AT

W52

/5 ca3

/X D.4

Question ID : 4774417539
Status : Not Answered
Chosen Option : --




Comprehension:

SubQuestion No : 61

(@ 4
(b) 5
(c) 6
@ 7

Ans  of A1
X B.2
X cs
X D.4

Study the following figure and answer the NEXT FIVE questions given below.

|:’ — Trained nurses

O —=3 Married population

A —> Murses in hospital

Q.61 By which number, the trained unmarried nurses in the hospital are represented?

Question ID : 4774417560
Status : Answered
Chosen Option : 1

Comprehension:

SubQuestion No : 62

(a) 3.6

Study the following figure and answer the NEXT FIVE questions given below.

|:’ —= Trained nurses

O —= Married population

‘A — Murses in hospital

@2 By which numbers trained nurses are represented?

Question ID : 4774417558
Status : Answered
Chosen Option: 3




Comprehension:

Study the following figure and answer the NEXT FIVE questions given below.

|:’ — Trained nurses

O —=3 Married population

& —> Murses in hospital

SubQuestion No : 63
263 What is represented by the number 77
(a)  Married nurses in the hospital
(b)  Trained nurses
(¢) Unmarried trained nurses
(d) Married trained nurses
Ans ( A1
X B.2
5 ca3
X D.4

Question ID : 4774417559

Status : Answered

Chosen Option : 1




Comprehension:

Study the following figure and answer the NEXT FIVE questions given below.

|:’ — Trained nurses

O —=3 Married population

‘/_\\‘ —> Murses in hospital

SubQuestion No : 64

Q.64 Ifhospital management requires only married trained nurses for operation
theatre. which part of diagram should be chosen by him?

F oy
o)
p—
-1 v B

Question ID : 4774417556
Status : Answered
Chosen Option : 2

Comprehension:

Study the following figure and answer the NEXT FIVE questions given below.

| ] —> Trained nurses

O —= Married population

‘/_\\‘ —> Nurses in hospital

SubQuestion No : 65
Q.65 By which number, married but untrained nurses in the hospital are represented?

@@ 4
(b) 5
() 6
(d 7

Ans <A1
X B2
X cs
v

Question ID : 4774417557
Status : Answered
Chosen Option : 4




Q.66 First bank in India to launch its interactive banking service through Dish TV is
(a) HSBC Bank
(b) ICICIBank
(¢) HDFC Bank
(d) Axis Bank

Ans X7 A1
75 B2
Wcs
/X D.4

Question ID : 4774417591
Status : Not Answered
Chosen Option : --

Q.67 A market situation when many firms sell similar but not identical products is
termed as
(a) Perfect competition
(b) Imperfect competition
(c) Monopolistic competition
(d) Oligopoly
Ans x A1
75 B2
¥ g

/X D.4

Question ID : 4774417583
Status : Answered
Chosen Option: 2

268 Which of these is a grocery focused start up?
(a) Grofers
(b) Myntra
(c) Jabong
(d) Amazon

Ans o A1
75 B2
X c3
75 D4

Question ID : 4774417574
Status : Answered
Chosen Option : 1




Q.69 Select a figure from the four alternatives, which when placed in the blank
space of given figure.

(b)

(d)

PP

Ans X7 A1
X B2
K cs
o D4

Question ID : 4774417570
Status : Answered
Chosen Option : 4

Q.70 Which international brand of mobile phones has “Ab khulkejeeyo India!” as
its slogan?
(a) Samsung
(b) Nokia
(¢) Sony
(d LG
Ans J A1
75 B2
X c3

75 D4

Question ID : 4774417575
Status : Not Answered
Chosen Option : --




@71 What figure will come at ?

(©

R,
©
©
©

Question ID : 4774417569
Status : Answered
Chosen Option : 4

Q.72 Tt is important to choose the right environment because it will help the listener
focus & avoid
(a) Attrition
(b) Distractions
(¢) Disturbances
(d) Noise

Ans X7 A1
B2
/X c3
75 D4

Question ID : 4774417595
Status : Answered
Chosen Option : 4




Q73 Which of the following Stock exchanges is called "Big Board"?
(a) Nasdaq
(b) London Stock Exchange
(c) New York Stock Exchange
(d) Mumbai Stock Exchange
Ans KA1
/X B.2
s
/X D.4

Question ID : 4774417587
Status : Answered
Chosen Option : 4

274 Find the next character in the series:
G L NQ U,
(a X
b Y
(c) B
(d D
Ans o A1
75 B2
X c3
5 D4

Question ID : 4774417561
Status : Answered
Chosen Option: 1




975 Find the number of triangles in the given figure.

A

Y

@ 3
(b) 6
(c) 8
(d) 10
Ans X7 A1
75 B2
/X c3
o D4

Question ID : 4774417566
Status : Answered
Chosen Option : 2

97¢ In Germany. the term 'Black Zero' is referred to as
(a) Loss making Start-Ups
(b) Profitable zero-debt companies
(c) Tainted Companies
(d) Balanced Budget
Ans X7 A1
X B.2
5 c3
v &

Question ID : 4774417581
Status : Not Answered
Chosen Option : --




277 Find the next character in the series:
B:CD. . BCD4, BsCD. BCsD
(a) BngD
(b) BGsD
(C) B.C3D
d) BCDy
Ans x A1
W52
X cs3
/X D.4

Question ID : 4774417563
Status : Answered
Chosen Option: 2

278 The following is the permanent records for business
(a) Business letters
(b) Ledgers
(c) Production reports
(d) All of the above

Ans  of A1
X B2
X c3
/X D.4

Question ID : 4774417594
Status : Answered
Chosen Option : 2

279 When demonetization happened in India before 20162
(a) 1978
(b) 1961
(¢) 1950
(d) Never
Ans o A1
75 B2
X c3
75 D4

Question ID : 4774417573
Status : Not Answered
Chosen Option : --




%% Find out the odd one from the given figure.

AlE|Z N

(1) (2) (3) (4)

(a)
(b)
(©)
(d)
Ans A1
v S0
X c3
75 D4

e I B

Question ID : 4774417565
Status : Answered
Chosen Option : 2

Q.81 Etiquette in technology the conduct that is socially acceptable in an online or
digital situation is called
(a) Netology
(b) E-etiquette
(c) Tech etiquette
(d) Netiquette

L N
5 B2
X c3
W D4

Question ID : 4774417593
Status : Not Answered
Chosen Option : --




Q.82 Find the minimum number of straight lines required to make the given figure.

(a) 13
(b) 15
() 17
(d) 19

Ans o A1
X B2
S ca3
/X D.4

Question ID : 4774417567
Status : Answered
Chosen Option : 1

983 Inflation is measured by which index in India?
(a) WPI (Whole price Index)
(b) CPI (Consumer Price Index)
(c) GDP (Gross Domestic Product)
(d) IIP (Index of Industrial Production)
L N
W52
X c3
75 D4

Question ID : 4774417582
Status : Not Answered
Chosen Option : --

@84 Bopost and Crocin brands are owned by which company?
(a) Pfizer
(b) GalaxoSmithKline
(c) Henz
(d) Paras Pharma
Ans X7 A 1
B2
X c3
75 D4

Question ID : 4774417586
Status : Not Answered
Chosen Option : --




Q.85

‘Which of the following 1s NOT a Public Sector Undertaking?

(a) Eastern Coal Field Ltd.

(b) Cotton Corporation of India

(c) ACCL.

(d) Bharat Bhari Udyog Nigam Ltd.

Ans x A1

75 B2

ves

75 D4

Question ID : 4774417572
Status : Answered
Chosen Option : 2

Q.86

Which bank has the slogan of “Badti ka naam zindagi”?

(a) ICICIBank
(b) Bandhan Bank
(c) Axis Bank

(d) HDFC Bank

Ans A1

X B.2

s

X 0.4

Question ID : 4774417577
Status : Answered
Chosen Option : 3

Q.87

Ans

“Where India Banks” is which banks’ tagline?
(a) Allahabad Bank

(b) Bank of Maharashtra

(c) Andhra Bank

(d) Bank of Baroda

KA
75 B2
Wcs
75 D4

Question ID : 4774417576
Status : Answered
Chosen Option: 3




988 Which number replaces the question mark?

(a) ©
(b) 8
(c) 10
@ 11
Ans A1
/X B.2

X c3
VD4

Question ID : 4774417568
Status : Answered
Chosen Option : 4

Q.89 Name the first Indian businessman who found place in the cover story of
Forbes magazine
(a) Azim Hasham Premji
(b) Narayan Murthy
(¢) Mukesh Dhirubhai Ambani
(d) Ratan Tata

Ans  of A1
X B2
X cs
/X D.4

Question ID : 4774417588
Status : Not Answered
Chosen Option : --




Q.90

Ans

Insurance cover for bank deposits in our country is provided by
(a) SBI
(b) LIC
(¢) GIC
(d) DICGC

KA
5 B2
X c3
¥

Question ID : 4774417590
Status : Answered
Chosen Option : 1

Q.91

Find the next character in the series:

JAK, KBL, LCM, MDN.
(a) OEP
(b) NEO
() MEN
(d) PFQ
Ans XA
B2
K c3
/X D.4
Question ID : 4774417562
Status : Answered
Chosen Option : 2
Q.92

Ans

Find the odd number from the given series
2.6,16, 38,84, 176. 368

(a)
(b)
(c)
(d)
25 A
/X B.2
s
/X D.4

6
84
176
368

Question ID : 4774417564
Status : Answered
Chosen Option : 3




29 NEFT means
(a) National Electronic Funds Transfer system
(b) Negotiated Efficient Fund Transfer system
(¢) National Efficient Fund Transfer solution
(d) Non-Effective Fund Transfer system
Ans o A1
/X B.2
X c3
/X D.4

Question ID : 4774417579
Status : Answered
Chosen Option : 1

Q.94 Which of the below acts as the principle regulator in the capital market in
India?
(a) IRDA
(b) RBI
(c) SIDBI
(d) SEBI

L N
X B.2
X c3
o D4

Question ID : 4774417578
Status : Answered
Chosen Option : 4

@95 GNP stands for
(a) Gross National Product
(b) Group Net Product
(c) Group Networking Process
(d) None of these
Ans  of A1
75 B2
/X c3
75 D4

Question ID : 4774417571
Status : Answered
Chosen Option: 1




Q.96 In the process of communication, which one of the following is in the
chronological order?
(a) Communication. Medium, Receiver, Effect, Message
(b) Medium. Communicator, Message, Receiver, Effect
(c) Communicator, Message, Medium, Receiver, Effect
(d) Message. Communicator, Medium, Receiver, Effect

Ans X A1
/X B.2
s
/X D.4

Question ID : 4774417592
Status : Answered
Chosen Option : 4

Q.97 Which company was the first to launched mobile phone operations in India?
(a) Reliance Communication
(b) Modi Telstra
(c) Bharati
(d) Tata Indicom

Ans &7 A 1
W52
X c3
X D.4

Question ID : 4774417589
Status : Not Answered
Chosen Option : --

%% Who is the Chairman of Tata Group?

(a) Natarajan Chandrasekaran
(b) Cyrus Mistry
(c) Neville Rustom Tata
(d) None of these
Ans  of A1
X B2
X cs
/X D.4

Question ID : 4774417584
Status : Answered
Chosen Option : 2




Q.99 What kind of unemployment is found in the agriculture sector of India?
(a) Situational
(b) Voluntary
(c) Disguise
(d) Frictional

L N
75 B2
W3
/< D.4

Question ID : 4774417580
Status : Answered
Chosen Option: 3

Q100 YWhich newspaper says You needn't read us to understand us?
(a) Malyalam Manorama
(b) The Hindu
(c) The Times of India
(d) Indian Express
Ans J A1
X B2
X cs
/X D.4

Question ID : 4774417585
Status : Not Answered
Chosen Option : --




